Version 2 on pages 3-4

J .
Math 230-01 (Ellis) Spring 2009 Quiz 1  Name: KEY

Instructions. Clearly circle the correct answer. Time limit is eractly 20 minutes.

1. Suppose you are examining a statement of the form Jz(-P(z) A Q(z)). If you are trying to
prove that the statement is true, you need to find a value of 2 such that

(a) P(z) is true and Q(z) is true
b) P(z) is true and Q(z) is false . — -
P(z) is false and Q(z) is true — Falg@, Aleug = Jrae 4 | rue

(d) P(z) is false and Q(z) is false o5 “Thredis

2. Circle the letter of the correct proposition.

a) The implication r — s is logically equivalent to the inverse of r — s.
éﬁ) The inverse of the implication r — s is logically equivalent to the converse of © — s.
(c) The inverse of the implication r — s is logically equivalent to the contrapositive of 7 — s.
(d) The contrapositive of the implication r — s is logically equivalent to the converse of

r— s, TMUWASR® Ty 7S - l"Sl_'r—v"slS—ﬂ‘]_
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3. Express in symbols the compound proposition
“I don’t swim in the ocean when the wind is blowing,”
assuming that b and f are the following propositions:
b: “I swim in the ocean.”
f: “The wind is blowing.”

(8) =f =
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o see p.le for g Wan p

d)) f — b =
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4. Which of thes tements says that if a number is positive and a second number is greater

than the first number, then the W@?
(@) Vras((r>0)— [(s>0)A (s >1)]) +haon S>O
(b) ¥1¥s((r >0)A(s>7))

Yris((r > 0) — (s > 0))
ég))ﬁr‘v’s([(r >0)A(s>r)] —s>0)
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5. Suppose you wish to prove the following about integers # and y by contraposition (contra-
positive).

If  — 3 is odd, then z is even or y is even.

Circle the letter of the hypothesis that you will begin with.

(a) z iseven or y is even

z is odd, y is odd, and = — y is odd

@misoddaﬂdyisodd S— neap. Hon o‘(j )(n‘& QALQIY\\/% 1S Qe
) z—yis odd O

(e) z—yiseven

6. Circle the letter corresponding to the negation of
JzVy3z(P(z,y) ® Q(z, z))
(a) VzIyWz(-P(z,y) & -Q(z, z))
/ JzVy3z(P(z y) Q(ﬂ: z))
c)PVzIWz(P(z,y) « Qz, 2))
ElcchEiz(—'P(sc,y & —Q(z, z))
(P(

(e) VzIyz(P(z,y) s Q(z,z))

7. Suppose you wish to give a direct proof of

“If  + 3 is an odd integer, then z + 1 is an odd integer.”
Which of these statements do you assume?

(a) z+1=2k+1 Assume X+3 IS sdd .

(%Hl:% /\ﬂ_\ﬁ Q@QA come R ED .

w+3=2k+1<
(d) 2+3=2k

S ——

- ¢ e foll QD_SS%‘OIEL Pyome lativn ¢
8. Select the negation of the following statement: -
“All students in the club except Ed are officers. - O ( ECD X )V{X (X + Ed =

(a) Some student in the club other than Ed is not an officer, and Ed is not an officer. D(KS 3
’@ Some student in the club other than Ed is not an officer, or Ed is an officer.
(c) Ed and some other student in the club are officers. \ - N '
= [
(d) Ed is the only student in the club that is an officer. e D(KX xS

an ot ',
Negate Ao %OJ' O (Ed)v Ax ( X FEd A (X»& ,
which damslofes o (b))



Math 230-01 (Ellis) Spring 2009 Quiz 1  Name: KE Y

Instructions. Clearly circle the correct answer. Time limit is ezactly 20 minutes.

1. Suppose h and ¢ are these propositions:
h: “I ride my bicycle.”
c: “The sky is cloudy.”
Express in symbols the compound proposition
“I don’t ride my bicycle when the sky is cloudy.”

(I

(a) h—e¢ ‘ (\

(&) c— I A A
(¢) =c—h

(d) —,%_-,c P>%

2. Circle the letter corresponding to the negation of
JaVy3z(P(z,y) < Q(z, 2))
(a) VazIyvz(P(z,y) ® -Q(z, z))

T (peq)=

(b) EI:EVyEz(P('L' y) < Oz, z) c\ede bt;,; Futh
(c) VzIyz(P( ) Q(z, z))

(d) EI:nyElz(—l & ~Q(z, z)) 9\_&\01&

» VaIyvz(P(z y @Q(az z))

3. You wish to prove the following about integers m and n by contraposition (contrapositive):
If m is odd and n is odd, then m — n is even.

Which hypothesis would you begin with?

(a) m is odd and n is odd -

() m—-nisodd <«— V\Qg@’h ISYON D‘p Y= AN .
(c) m is even or n is even

(d) m —nis even

(e) misodd, nis odd, and m — n is odd

4. Suppose you are examining a statement of the form Vz(P(z) vV -~Q(z)). If you are looking for
a counter example, you need to find a value of = such that

(a) P(z) is true and Q(z) is true , o .
@ P(z) iss true and Q(z) is false B L O(K) v @(k}\ — PL‘;\ &L\()
) ~

P(z) is false and Q(z) is true
LA s o Lohen

(d) P(z) is false and Q(z) is false
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5. Which of the following propositions is correct?

(a) The inverse of the implication p — ¢ is logically equivalent to p — g¢.

The converse of the implication p — g is logically equivalent to the inverse of p — q.
(c¢) The contrapositive of the implication p — g is logically equivalent to the inverse of p — g.
(d) The converse of the implication p — g is logically equivalent to the contrapositive of

P=a oeoomor of p>G 1S Q™
TR O(l P‘\ﬂ% 15 @?j‘ AESN +al(,e contva OS(’hpQQ "fb
Shao ("—:P 1< D%Icrkub\
V){ beu&\)cﬂ uft -

6. Which of these statements says that if a_numbg is posntnfe’ nd a second number (s greatel

than the first number, then the secongl number s also posit positive?
(a) VzIy((z > 0) — (y > 0))

VaVy([(z > 0) A (y > z)] — y > 0)
c) vﬂ:v;((:c >0) A (y > z)) 1 (x>0 “é{"’
(d) Vedy((e>0) = [y>0)A@y>a)])

A %7 O

7. Suppose you wish to give a direct proof of
“If n 4+ 1 is an odd integer, then n + 3 is an odd integer.”
Which of these statements do you assume?

(a) n+3=2k Di nect pmo{'
(b) n+3=2k+1 Acsuma Nl s odd.

(¢) n+1=2k
@)nj—lz%—l-ldp@ Br Sme kel

tyans lafe
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8. Which of the following is the negation of the statement:
“Every zoo in the United States except the Lincoln Park Zoo charges admission.”

(a) The Lincoln Park Zoo and some other zoo in the United States charge admission.

b) The Lincoln Park Zoo is the only zoo in the United States that charges admission.

c) JSome zoo in the United States other than the Lincoln Park Zoo does not charge admission,
or the Lincoln Park Zoo charges admission.

(d) Some zoo in the United States other than the Lincoln Park Zoo does not charge admission,
and the Lincoln Park Zoo does not charge admission.
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